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Manually compute (show work) the IDFT of the DFT points Xk where X0 = 5, X1 = 1 + j2, 
X2 = -15, and X3 = 1 – j2.  Plot input x[n] with each of the stems labeled. 
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n = 0:  0 0 01[0] 5 (1 2) 15 (1 2)
4

x j e e j e = + + − + −        ⇒    x[0] = -2 

n = 1:  (1)/2 (1) 3 (1)/21[1] 3 (1 2) 15 (1 2)
4

j j jx j e e j eπ π π = + + − + −        ⇒    x[1] = 4 

n = 2:  (2)/2 (2) 3 (2)/21[2] 5 (1 2) 15 (1 2)
4

j j jx j e e j eπ π π = + + − + −      ⇒    x[2] = -3 

n = 3:  (3)/2 (3) 3 (3)/21[3] 5 (1 2) 15 (1 2)
4

j j jx j e e j eπ π π = + + − + −      ⇒    x[3] = 6 
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